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POLITICAL SCIENCE
PAPER — Il

Note : This paper containseventy five (75)objective type questions bko (2) marks eachAll
guestions are compulsory.

1. Who among the following said that politicaletiry stands for an abstract model of the
political order ?
(1) T.P.Jenkin (2) R.A.Dahl
(3) W.T.Bluhm (4) Weinstein

2. Which one of the following statements is not true ?
(1) Classical political theory is qualitative.
(2) Behaviourapolitical theory is quantitative.
(3) Post-behavioural political theoiy both qualitative and quantitative.
(4) Behavioural theory is not speciattgncerned with Anglo-American model.

3.  Which one of the following statements is not true ?
(1) Neo-liberalism refers to significant reai of interest in classical liberalism.
(2) Neo-liberal ideas were taken up by thétpal parties of the New Right in Britain.
(3) The revival of classical liberalism occuiras a reaction against the onset of a world
recession in the 1970s.
(4) T.H. Green accepted the classical liberal notion of liberty only.

4.  Who among the following dismissed John Rawbsicept of social justice as a ‘mirage’ ?
(1) Macpherson (2) Friedriddayek
(3) Isaiah Berlin (4) Robert Nozick

5.  Who among the following saithat ideology should neither bleought of adiberating or
oppressive, nor as true or falecan be any these things ?

(1) Andrew Heywood (2) John Rawls
(3) Andrew Gamble (4) Bill Coxall
6. Match List — | with List — Il and selecteicorrect answer from the codes given below :

List—1I . List—1II
(Year) (Event)

(a) 1917 -I () Mao started $ihistoric ‘Long March’.

(b) 1918 (i)  Mao participated itihe first Congress of the CCP.

(© 1921 I (i) Mao became a LibraAssistant in Peking University

(d) 1934 (iv) Mao met Liu Shao-Chi

Codes :

(@ () () ()

1 @ @ (i) v

(2)  (v) (i) (i) ()

3 O @ (i) (v

@ @iy Gv) @ ()
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NSEICRCEICE
a9q-a — |1

29T ; 29 TR § U=EwR (75) Sg-faehedid U | e WA & a1 (2) ik © | |l v S € |

1. TAfcfed & 9 e &a1 o foh Temifass fegia Tsmiiaes SaeT & U 3T Hiee & o § ?
(1) 2 St (2) IRT T&A
(3) == = (4) fom

2. frfotad & @ & 91 e 9 R e ?
(1) TE TeHIds TagTd ToETRe BT & |
(2) ATRRERI TSI (Fgid A edT ¢ |
(3) STR-ATERAR! TSTHITS (FgId OERIRE SR AHCHS ST &l € |
(4) TTRRETR! (GG - Tt & T {9y & 9 Heifed =i € |

3. frefoiad & @ & 91 A W R w2
(1) o-3TRAE H A T IIRETE | Fd & Fewaqu] TTessiad 9 § |
(2) T2 | Fa-3ReTordelt TGS o = T9-STRART foaR 7T o & |
(3) I I{RER H YAESSIaA 1970 & 90 § [Ivadl o URTT | U UAfhar & &9 § gaf
o |
(4) = T T AT %GR H heel IS STRETR! R i SR T |

4. S ToH I GHIEH FF i SFTTEIRT & [Ffargd § 9 6t ‘qlifeer & ®0 1§ @i
TR ar ?
(1) FFHaa (2) TheR® &%
(3) TUEE afeH (4) Tae st

5. frafctad § 9 fhae et of 1o foamarT &0 7 af fomee a1 Sciies a1 v Wet 91 Tord & &9 °
THAT ST AT | T8 378 F g o & Fehell € 2

(1) Tggege (2) i tew
(3) TEY T (4) foet ST
6. Tl — | Gl — || % 1 GAfeAd Y S A U T Fe 1 AT A gT SR T
= - | = - I
(a) (arem)

(@ 1917 | () el e ufqeiees et He i feE e |
(b) 1918 | (i) WS = WELU. Sl Ueedr HUT H 9T forar o |
(c) 1921 |  (iii) SN HifHT foRalaEer H qREHC WerEd o o |
(d) 1934 | (iv) wef = forg wment = | Hotrehrd i of |
%
() ) () ()
@ (i @ i) (v)
(2) (v) (i) @) @)
Q) @) (@) (i) (v)
(4) (i) @(v) (@) (i)
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7. Match List — | with List — Il and selectétcorrect answer from the codes given below :
List — | List -1l
(Philosopher) (Idea)

(@) Machiavelli () Revolt against Reason

(b) Hobbes (i)  Moral Indifference

(c) Locke (iif) Instinct of self-preservation

(d) Rousseau (iv) Natural Right to Property

Codes :
(@ () () ()

1) G i) (v) ()

2 (@ (i) (i) (v)

() (i) (@)  (v) (i)

() (v) (i) (i) @)

8. Who among the following said : “Most reloyis men | have met are politicians in
disguise. |, however, who wearetiguise of a politician in digiise, am at heart a religious
man” ?

(1) Bipin Chandra Pal (2) C.R.Das
(3) M.K. Gandhi (4) M.A.Jinnah

9. Given below are two statements, one labedledAssertion (A) and the other labelled as
Reason (R). Select the correct aasivom the codes given below :

Assertion (A) : Platonic theory of ideas mased upon the theory of knowledge.
Reason (R) :For him, knowledge is perception.

Codes:

(1) Both (A) and (R) are true, and (R)the correct explanation of (A).

(2) Both (A) and (R) are true but (RB)not the correctelanation of (A).

(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

10. Who among the following said : “Aristotleisew general science pblitics was not only
empirical and descriptive, but even in soraspects independent afy ethical purpose,
since a statesman might need to kgeet in governing even a bad state.” ?

(1) E.Barker (2) G.H. Sabine
(3) E.B. England (4) G.C. Field
11. For Locke, which of the following statements is not true ?
(@) The state must be a constitutional state.
(b) Government must posses discretionary power.
(c) Itis atolerant state.
(d) The right to propeytis not a natural right.
Select the correct answer from the codes given below :
(1) (a)and(c) (2) (a)and (b)
(3) (b)only (4) (d)only
Paper-Ill 4 J-02-16
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10.

11.

TR — |t o — |1 % |1 GHler Y 3R A KT 10 % 1 b0 Hd 3¢ el ST g0
= - | = - |l
(FTHITTH) (farem)

(a) Hfwareet () T % ula s

(b) =\ (i)  Afqw I

(c) i (iii)  3TeH-uRTEToT W g

(d) == (iv) i 1 G TR

YA

(=N

@ () () (d)
@) Gy (i) Gv) ()
) (@) (i) (i) (v)
(3) (i) @)  (v) (i)
(4 (v) (i) (i) (@)
frfefed & & fae #er o1 ;. “H 59 off aiie =t @ fHen, s 9 sfusak sgray o
TR & | Afh, | TTHITsT 1 9 ERUT AT &, ST DAY H g39 ¥ U H1iHeh i & 1"

(1) Tt == are (2) WX T
(3) T©H, M (4) T 5=

T 1 e 5 T €, TEE F U A AR (A) R g H I (R) FeT T e | A iy
FHE T TN I G el I T

arfireer (A) : foemi % R | wiet i fagia 7 % fagia @ eneia €

qF (R) : 37 SFTIR T €ROM &l & |

E T

(1) (A)TE (R) T @&t € 3T (R), (A) i T& AT |

(2) (A)TE (R)THl W& & AFT (R), (A) I el A7 e € |

(3) (AT E W(R)TE |

(4) (A)TEE W (R) Tl T |

frfafad & 9 fFe FeT o . “R¥G H T AR TSI a5 T haet SFNesT 31
SUHTCH ¢, Siesh $F el § I8 Sl of Afdew S29 ¥ Ta ot & ifch Tl 1 98 T &
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(1) = 9= (2) Shu=. dere

(3) It Fele (4) SHEnL wies

e & AR e § & HiFa U &l 76 & ?

(@) T I FAYIS T &A1 AET |

(b) TRER & U TTehT DR EHT T |

(c) I TH TEeMet T ¢ |

(d) Tufa = AR Fafe AfwR T8l ¢ |

= T T 2 RN FA g7 e I gAY ;

(1) ()R (c) (2) (a)#R (b)
(3) e (b) (4) e (d)

J-02-16 5 Paper-Ill

www.examrace.com



12. For Rousseau, which of the following statements is not true ?
(@) Two original instincts i.e. selé¥e and sympathy make up man’s nature.
(b) A thinking man is a depraved animal.
(c) Family is the only natural society.
(d) General will is not a group mind.
Select the correct answer from the codes given below :
(1) (a)and (b) (2) (b)and (c)
(3) (c)only (4) (d) only

13. For J.S. Mill, which of the following statements is not true ?
(@) Pleasures differ in qualiais well as in quantity.
(b)  Mill makes use of the non-utilitarian arguements.
(c) The felicific calculus is absurd.
(d) Pleasures can be objectively measured.
Select the correct answer from the codes given below :
(1) (b)and (c) (2) (a)and (b)
(3) (a), (b)and(c) (4) (d)only

14. Arrange the following works of Amartya Sen in chronological omfehis publications.
Select the correct answer from the codes given below :

(@) Idea of Justice (b) Inequality Re-examined

(c) Development as Freedom (d) Choice, Welfare and Measurement
Codes :

(1) (d), (), (c), (a) (2) (a), (b), (c), (d)

(3) (c), (d), (a), (b) (4) (b), (@), (d), (c)

15. Given below are two statements, one labedsdAssertion (A) and the other labelled as

Reason (R). Select the correct aasivom the codes given below :

Assertion (A) : There was great deal of similarbgtween the ideas of Mazzini and those
of Aurobindo.

Reason (R) :Both believed that faith in God wasetbasis of moralitythat politics could
not be separated from morality.

Codes:

(1) Both (A) and (R) are true, and (R)the correct explanation of (A).

(2) Both (A) and (R) are true but (RB)not the correctelanation of (A).

(3) (A)is true, but (R) is false.

(4) (A)is false, but (R) is true.

16. Identify the correct sequence in which gensgatems theory has been adopted in social

sciences ?
I Psychology ii. Sociology
iii.  Anthropology iv. PoliticalScience
Select the correct answer from the codes given below :
Codes :
Q) i, ii, iiiand iv (2) i, ii, iand iv
(3) i, iii, ivandi (4) i, i, i, and iv
Paper-Ill 6 J-02-16
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12.

13.

14.

15.

16.

w4 % 3TAR ffeAtad o | ST w2 Tet T8l & ?

(@) T g gt — I 3R WA THe St Tt T 70T e & |
(b) U foraREiel HHE AR U] B € |

(c) URAR Shaet Thide TES g € |

(d) T ST UH THE I 9T (YT HIES) el gt € |

= T T F2 RN A gT el I g ;

(1) (a)3 (b) () (b) 3R (c)

(3) e (c) (4) e (d)

. uE. fieT & SR ffefad 5 § A 91 o 98 T € ?
(@) 2T TR SR O § =T g § |

(b) e TR-SURNTAETET bt BT ST I € |

(c) YEEE FoH (HiATAES hHoperd) T € |

(d) TR T TS TRk & [T ST ThelT & |

e T T 2 T T S BT FEl SR YT ;

(1) (b)3R(c) (2) (a)#R (b)
(3) (a).(b) 3R (c) (4) e (d)

3 U i (=feIRad Hiaar s 37 U % otk 9§ ardd ®Y | A 5T 7T Fe
T AN X Tel IR T :

(a) omefear 3w Sieg (b) Tz RusTite

(c) STEUHE TH WieH (d) 7, ITHIR TS BoRHS

%

(1) (d), (b), (c), (a) (2) (a), (b), (c), (d)

(3) (c), (d), (a), (b) 4) (b), (@), (d), (c)

I 37 e f5w e, T @ ue A e (A) 3R g B a% (R) FeT T Y | A 5T e

e T AN FA U el IR T

A (A) : GSH R SRIa<T & faari § sreafes gomar o |

A% (R) : AT 1 HHAT o7 55 9k | STIAT AfIshell Bl SR AT SR IS bl Afqehdl & 3TerT
o =181 ST Tk & |

HT !

(1) (A) 3R (R) I Tel & @ (R), (A) i Tt =7 € |

(2) (A) 3R (R) I W&t & AfE (R), (A) ! el A @i € |

(3) (A)TE T, W (R)TT & |

(4) (AT E, W(R)TE T |

GATTSTeR fo B STIATT T A g fETd & Hel 351 & Tear T ;
i AR i, ST

jii.  foe= iv. TSI faRe

et ST T e BT FEIT HA §T Tl IR AT

FT

(1) i, iii 3 Riv (2) i, ii, i R v

(3) i, iii, iv 3 (4) i, i, ii, 3T iv

J-02-16 7 Paper-Ill

www.examrace.com



17.

18.

19.

20.

21.

22.

The term ‘legitimation crisis’, in terms afrosion of confidence in public institutions
resulting in coercive apparatof states, was developed by :

(1) David Apter (2) S.P. Huntington

(3) EdwardShills (4) Habermas

Which of the following is not true of a Constitution ?

(1) It safequards the political institutions.

(2) Itis the source of all authty of the organs of the government.
(3) It promotes trans-national security.

(4) Itincorporates fundamental laws.

Who among the following are European thinkassociated with the theory of political
elites ?

(a) Pareto (b) Mosca

(c) Schumpeter (d) Lasswell

Select the correct answer from the codes given below :

(1) (a)and (b) (2) (a), (b) and (c)

(3) (a), (b) and (d) (4) (a), (b), (c) and (d)

Who among the following do not make adistinction between interest groups and
pressure groups ?

(&) Jean Blondel (b) Myron Weiner
(c) Robert C. Bone (d) James Coleman
Select the correct answer from the codes given below :

(1) (a)and (b) (2) (b)and (c)

(3) (a)and (d) o (4) (d)only

Identify the basic contentions of Dependetizgory. Select the correct answer from the
code given below :

(a) Development of coloniesvéewed as Whiteman’s burden.

(b)  Third world nations provide ha&al resources ahcheap labour.

(¢) Industrialization and market economy are conducive for development.

(d) Advanced western nations perpetuagtate of dependency by various means.
Codes :

(1) (b) and (c) (2) (b) and (d)

(3) (a)and(c) (4) (a) and (d)

Which of the following is/are the common feed(s) between the Irah political system
and the US political system ?

(@) Residuary powers belong to the centre.

(b) Residuary powers are with the states.

(c) Presidents have the power of pocket veto.

(d) Upper houses have some nominated members.

Select the correct answer from the codes given below :

(1) (a), (c) and (d) (2) (b), (c) and (d)
(3) (c)and (d) (4) (c)only
Paper-Ill 8 J-02-16
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17. e GEnel | fovard & & o oI H “Siehur ehe” TIETeell oh farehiad @i, St afiomg
TS & 3aUIgeh ST a4 o ®9 | FH 11 ¢, Fefoiiaa 5 9 fohae foestaa =t 2
(1) <fag amex (2) TwHd. e
(3) TEEE A (4) TRE™

18. Hfou™ % IR § Fr=feifad & & S 91 FHeF T T ¢ 2
(1) T8 T TSt i T T € |
(2) ¥E TEHR % 3T % T MHRT 61 AT & |
(3) I URSTN G I UiceATed BT & |
(4) TE gora fatat = afmfed FRar e |

19. FefafEd § ¥ & ¥ JUUE gere T e & fagia @ 9ag § ?

(@) W= (b) ==

(c) X (d) dirEa

et ST T e BT TEIT HA §T T IR G

(1) (2)3R(b) @) (a), (bpR(c)

(3) (a)(b) =R (d) 4) (a), (b), (cHR(d)
20. ffefad § 9 o fod TE! 37 3919 THEl % a9 His 9 81 e € ?

(@) S AR (b) WA R

(c) =& | (d) S e

et T T e BT TEIT HA §T T IR G4

(1) (a) (b) (2) (b)3(c)

(3) (a)3(d) (4) et (d)

21. ORI fgia % HoT deht ! Ued &Y | A ST T % T WA FRd g Wl S G
(@) SufEsT % faer @l Yo =afed & oier % 9 § 3@ A § |
(b) TR T % I VTSI AT SR T S U B © |
(c) 3irEmieRoT X AR STieae faehrd W W8 &id & |
(d) foeriaa ufyemdt 397 fafir=r QreqT @ wifsradn =i fefq s @ €
% !
(1)  (b)3R (c) 2 (b)3ir(d)
3) (a)%R(c) (4) (a)#R (d)

22. YRAR TeHITae JOTer 3T e TeTiidae ToTel & s Fetaiad 9 & sad J9H foemad
€2
(@) erarere vl o % U Bt & |
(b) eTafeTse iRl TSAT % U B § |
(c) Ul % U ‘UThe Sel’ B € |
(d) =99 U F8 AIHIT ASF e & |

el T T 2 T TN I BT FeEl SR YT
(1) (a).(c) =R (d) (2)  (b), (c)#R (d)
(3) (c)eR (d) (4) e ()
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23. Which one of the following types of bureaucraoghibits a bias towds party interests ?
(1) Guardian bureaucracy (2) Caste bureaucracy
(3) Patronage bureaucracy (4) Merit bureaucracy
24. In a single transferable vote system, each voter is required to :
(1) Indicate one preference more than the seats to be filled up.
(2) Indicate one preference less thiaa total seats to be filled up.
(3) Indicate as many preferenceslaeye are candidates to be elected.
(4) Indicate only a single preference.
25.  Which of the following are true gdresidential system of government ?
(@) President is both Head of tBtate and Head of the Government.
(b) Itis based on separation of powers.
(c) President’s term of office is fixed.
(d) Secretaries are responsible to the president as well as to the Senate.
Select the correct answer from the codes given below :
(1) (a), (b) and (c) (2) (a), (b), (c), (d)
(3) (&), (b) and (d) (4) (a), (c)and (d)
26. Which of the following Houses has htdm longest speeches by the members ?
(1) House of Lords (2) Lok Sabha
(3) US Senate (4) Swiss Council of States
27. Which of the following statements are @mt about the Vice-Preents of India and
America ?
(a) Both the Vice-Presidents are elected for a fixed term.
(b) They are the presiding officers of the upper house.
(c) They appoint the committees of the house.
(d) They have a casting vote in case of a tie.
Select the correct answer from the codes given below :
Codes :
(1) (a), (b) and (d) (2) (b)and(c)
(3) (a), (b)and(c) (4) (@), (b), (c) and (d)
28. Which one of the following characteristissnot true of Anomic interest groups ?
(1) They are spontaneous groups that are formed suddenly.
(2) They are formed on the basigprior organisation and planning.
(3) Eruption of violent behaviour @imes to ventilatehe discontentment.
(4) They are short lived and transitory as they cease to operate once the purpose is
achieved.
Paper-Ili 10 J-02-16
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23.

24,

25.

26.

27.

28.

frfoiaa o § 8 Tehr i Aol Seir feal & uid gerar feamd & 2
(1) TR ARCE (2) T SewReme
(3)  VSERTAT AT (4) ITIATRE FIHRIEN

Tehel SEATRUN Tl WOTTeAT H Wedieh HARTaT o [o1T T STavaeh € ?

(1) o ST ool |iel ot qorT B Ueh 37X aiadT i ST e |
(2) T STH ool et Fieh i § Ueh HH T Bl AT BT |
(3) TaTad g et Wenf¥TE AT aRigdret s ST e |

(4) T TH THA SR AT BT |

TIHN I AL YTl o a1 | TAfeAfigd & § i o1 o Tl ¢ ?
(@) YU T 3R TRBR ST BT 3TETeT BT ¢ |

(b) TE WIS P JFRIOT TR SR & |

(c) Ul % UT I HIFHIA FIved el & |

(d) wfeer (¥ Tgufd SR HiHe & uid Saeemr 8 ¢ |

e 5T TTT e 1 TN A §T HEl SR AT

(1) (a),(b) 3R (c) 2 (@), (b), (cHr (d)
(3) (a).(b) X (d) 4) (), (PR (d)
e # & g #9874 9ewl g Faits ol T 5w T § 2

(1) =39 3 ey (2) ol T

(3) smiH Hie (4) T TRt oiw wem

IR 3R T & STt o IR § Fefeiad § @ Har o 98l ¢ ?
(@) T I & Ul T U (U St Bl & |

(b) T S=3 e % QAT B € |

(c) ¥ |3 o WHIGAT i FgRT R € |

(d) =% TR Tl i et & Homes 7d 37 %1 AR g € |

T 5T T e 1 TN A gT HEl SR AT ;

% :

(1) (a),(b) =R (d) (2) (b)3R ()

(3) (a),(b) 3R (c) @ (a), (b), (cHr (d)

srfrafira fea Tmel & IR # Fefatad & @ A 91w 98 @ e ?

(1) 3 @ vardd 99 &id &, S 3Taeh Tied Y ST € |

(2) T gA-GTe 3R fFeH % R W Tfed & € |

(3) A W AR & Tt o TR &8s =R F1 U7 e T |

(4) T TeuHIcs AT LA B & ek ST 32T U &l S & ol B A1 9 P IAE |
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29. Given below are two statements, one labedledAssertion (A) and the other labelled as

Reason (R). Select the correct aasivom the codes given below :

Assertion (A) : In the advanced liberal democracies of the western nations, military is
subordinate to thediian authority.

Reason (R) :Military plays a key role in counes where democracy has not been
institutionalized.

Codes :

(1) Both (A) and (R) are correct, and) (R the correct exphation of (A).

(2) Both (A) and (R) are correct, but (R)not the correctlanation of (A).

(3) (A)is correct, but (R) is false.

(4) (A)is false, but (R) is correct.

30. Match List — I with List — Il and selectethcorrect answer from the codes given below :

List — | List — I
(Writer) (Concept/Model)
(@) Robert Mitchels (i) Communication Model t

(b) JamesBurnham (i) Power Elites » © "

(c) C.Wright Mills (i) Managerial Rgvolution

(d) Harold Lasswell  (iv) Iron Law offoligarchy |

Codes :
(@ () () (d)

1) () (v) (@) (i)

2) @ (i) (i) (iv)

(3) (v) (i) (i) ()

4) (i) (i) (@) (v)

31. Which of the following statement/s about thegliRito negative vote figre correct ? Select

the correct answer from the codes given below :

l. The Election Commission of India wat that ‘None ofthe above’ button on
Electronic voting machine should be offered to voters.

[I.  The public interest litigtion, in the Supreme Couidr NOTA option was filed by
the Association for Democratic Reforms.

[ll. Elections in a constituency will be ldeagain if NOTA gets the highest votes.

IV. The candidate with highest number of votei be declared elected even if she/he
receives less than the NOTA votes.

Codes :
(1) Onlyland Il are correct. (2) Only Il and Il are correct.
(3) Only lll and IV are correct. (4) Onlyland IV are correct.

32. Given below are two statements, one labedsdAssertion (A) and the other labelled as
Reason (R). Select the correct aasivom the codes given below :
Assertion (A) : Federalism is not dead in India.
Reason (R) :New regions are constantly demanding statehood.
Codes:
(1) Both (A) and (R) are true, and (R)the correct explanation of (A).
(2) Both (A) and (R) are true but (RB)not the correctelanation of (A).
(3) (A)is true, but (R) is false.
(4) (R)istrue, but (A) is false.
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29. =9 3 e KU M g, e @ ueh iR (A) IR T S o (R) e e € | A e
FHE T TN I G el I T
afirerer (A) : afvet 39 o foshiad i | ST AR 9l o 3Te &t € |
% (R) : O 37 A0 H U HewdqoT fHehT 3787 Sl €, STt offehai = W ®9 81 foran € |
C T
(1) (A)ws (R)IH &l € 3R (R), (A) Sl Tel A € |
(2) (A)ud (R) 3 Tl € Afe (R), (A) F Fel AR T ¢ |
(3) (A)TE T, W (R)Td & |
(4) (AT e, W(R)TEE |

30. gE— | g — ||%wgﬂﬁaﬁaﬁrﬁ%%quwmaﬂﬁ§wﬁwqﬁq

—1 =it - I
(ﬁ@ﬁb‘) (WWU'IT/HEH)
(@) T iR () 9= Aiee .
(b) <ITF s ew (i) ifeRT ST i

(c) & wEefmem (i) VU whifd P LT |
(d) Teesdm (i) W(aﬂﬁmﬁ)aﬁ‘ﬁgﬁﬁr

@ @{ (c) (d)

(1) @) av) () (i)

(2) @ @) (i) (v)

(3 (iv) (i) (i) ()

4) iy @) @ (v

31. SHRIHF Od % R & Fag # f=fefiad § 9 S9-91 HU/0H-0 %29 T8l &8 2 99 3 ™

% T Tl ¥ Tet W g

|, 9RA S FAE AN e o7 {oh Hagarsti & geiai-s aifer qeie § ‘ST | Hig el
(A1) FT T 2 S |

Il. e fasheg & o S=udy I § TEiiHuE ®) SHshEH Y §RT Alshed e
TEATH TS |

I, ot Fatem & | afs ' Aer & gad 21fuss 7d et ot 9et gaRT HagH I ST |

V. 3 frdl IEiga &l ‘e Jdl 9 %9 90 9 Ui eid & of 9 Teitaes 7 U o ool
IHEER = Fefed =i far s |

T

(1) o | I TE | (2) FHaeA Il 3TN TETE |

(3) FacAlll AR IV W | (4) Faet | ARV T E |

32. s FuF 53 T € NE 9 U B st (A) 3R SE @ 9 (R) e T E | A 5
FHE I TSI § Tl I A =TI DI
AHHYA (A) : R | FEAIE H ST Fal gam ¢ |
T (R) : T3 &5 AR o9 6l o1 A @ € |
A
(1) (A) 3R (R) I el €, 3R (R), (A) S Tel A= ¢ |
(2) (A) 3R (R) I TEl & W (R), (A) F Tt AR &l § |
(3) (A)WE g W (R)Tod & |
(4) (R)WEl &, W (A) T ¢ |
J-02-16 13 Paper-IIl

www.examrace.com



33.  Which one of the following pairs is not correctly matched ?
(1) Laxmi Kant Pandey v/s Union of Indignter-country adoption of Indian babies.
(2) S.P. Gupta v/s President of India and thesnabling citizens to file public interest
litigation for social cause.
(3) Mohini Jain v/s State of Karnatakanjoyment of pollubn-free water and air.
(4) Olga Tellis vs/ Bombay Munigal Corporation right to livelihood.
34. Match List — | with List — Il and selectéthcorrect answer from the codes given below :
List — | List — I {
(Presidents of India) (Tenure) _JH )
(&) Varahgiri Venkatgiri ()  July 1987 — July 1992 §
(b) Dr. Zakir Hussain @i)  July 1977 — July 1982
(c) R.Venkatraman (i)  August 1969 —August 1974
(d) Neelam Sanjiva Reddy (iv) May 1967 — May 1969
Codes :
(@ () () (d)
1) @ @ Gv) (i)
(2) @iy (v) @) (i)
(3) (i) (i) (v) ()
@ 0 @ (@) v
35. Which one of the following is the correbteak-up of the composition of Lok Sabha
Constituencies ?
Total General * 4 ScheduledCaste Scheduled Tribe
Constituencies Constitqkendfies Constituencies Constituencies
(2) 545 514%3': 80 42
(2) 543 - 423 79 41
3 543 425 78 40
(4) 545 427 79 39
36. According to the Supreme Court of Indile foundation of ‘composite culture’, as
mentioned in clause (f) of Article 51 A, is :
(1) the diverse culture of India
(2) the Sanskrit language and literature
(3) the secular fabric of India
(4) the values evolved during the freedom movement
37. Which of the following Fundamental Rights ayented only to citizens of India ? Select
the correct answer from the code given below :
l. Cultural and educational rights.
[I.  Equality before the law.
[ll. Right against exploitation.
IV. Protection from discrimination on groundsly of religion, race, caste, sex or place
of birth.
Codes :
(1) Ilandllonly (2) lland IV only
(3) Illland IV only (4) landlIV only
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33. fr=fefad & @ wF gafera 76 € ?
(1) e Hid TST TAT TR BN G ; WA Tl T -390 TS, fefam ST |
(2) TEH. T S AR & AU T ST FIHISTR 3299 % o1t e fed A1taehT 3R e
&q AT T T
(3) TfeAr S ST : Fledh TS © UGHUIT ST U A1g T WA
(4) T 2T T T TR M STSiifaehT # SER

34. gl — | Gl — || o T G it T = 53 T %e 9 F& W I

= - | = - |l /
(st 5 R () (s
(a) TEAR FHefii () ST 1987 —JoTié, 1992 i !
(b) . SRt g (i) ST 1977 =TS, 1982
(c) 3R, FhexT (iii) 37T 1969 —3TT 1974
(d) o Fster Tt (iv) #1967 #1969 |

4

(=N

@ () (¢ (d)
@ @i @ v (i)
(2) (i) (v) @ (i)
3 @) (i) (v) ()
@ @0 (i) (i) (v)

35. frefcifad B @ B 1 e T IS &1 Bl GaT B Hel AR € 2
FHeT AT FTErad ST FTAAA STASTA
AT & AT S

T & g ¢ T

1) 545 — 423 80 42

() 543 423 79 41

3) 543 <« . 425 78 40

(4) 545 {7 427 79 39

36. 9RA % STadH e % AR, ST 51% % TE (9) H o1 arord *fafs aepta &t g ¥

(1) R =i fafay Tepia (2) TEpa O AR e

(3) WRA = U FUET T T (4) TSI G % IR foehiad god

37. ¥RA & AN H ARG | HE-9 Hifors SR UeH 53 T E 2 A 52 T g 9w
IW I |

| TR 31T forem o IR
. fafe o Tuer gEEa
I, 3ooT % oy TR
IV. o, 7%, ST, for et S T o 3TER W 9eyTe o fodeg Teet
FT:
(1) et | AR (2) HaeA Il AR IV
() HaAlll 3R IV (4) FHaet | IRV
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38. Which of the following statement/s abouetovernment of India Act, 1935 is/are not
true ? Select the aect answer from the code given below :
l. In six of the provinceghe legislature was bi-cameral.
II. The Governor-General had the powentake permanent acts but not ordinances.
[ll.  The residuary powers of legislation meevested in the Central Legislature.
IV. Education as a subject wavith Central Legislature.
V. Separate representation wasypded only to the Muslim community.
Codes :
Q) LU andV (2) I, IVandV
(3) I, 1, IVandV (4) 1,1, 1VandV
39. Match List — | with List — Il and selectétcorrect answer from the codes given below :
List—1I List — Il
(Farmer’s Organization) (State)
(@) Shetkari Sangathana () Guijarat
(b) Bhartiya Kisan Sangh (i)  Maharashtra ¢ :
(c) Samata Sangathan (i) Rajasthan "
(d) Kisan Mazdoor Sangathan  (iv) Orissa
(v) WestBengal |
Codes :
@ () () ()
1 @ @)y (@) (v)
(2) (i) (i) () (v)
3) () (@) (v) (i)
4) (@) @ (>v) (v)
40. Consider the following statements and selbet correct answer from the codes given
below :
l. Subject to legislation by Parliamentethower to declare any area as a ‘Scheduled
area’ is given to the President.
Il.  The5" Schedule of the Constitution deals wattiministration of ‘Scheduled Areas’
in Assam, Meghalaya and Tripura.
lll. The Government of the states having ‘Scheduled Areas’ have to submit reports to
the President regarding the adistration of such ‘Areas’.
IV. The executive power of the Union shedtend to giving direabins to the respective
states regarding administrati of the ‘Scheduled Areas’.
Which of the above statements are correct ?
Codes :
(1) Onlyland Il (2) OnlylandlIV
(3) Onlylandll (4) Onlylland Il
41. Which one of the following is correctly maeed about the outcome of the XVI Lok Sabha
elections ?
(1) National Democratic Alliance336 seats and 35 pertt vote share.
(2) United Progressive Alliancé4 seats and 23 mant vote share.
(3) Left Front: 10 sea@nd 4.8 percent vote share.
(4) Congress: 44 seats and 17 percent vote share.
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38. frAfeiEa O 9 -9 HU/HA-0 HUT TR MG gy, 1935 % a1 | T @ 28 2 A
%3 T3 e TeEdT ¥ el IR g
|. S Ul | Faenfus GaeT o |
Il T SR i ST AT S 1 TR o7 7 foh STeee a9 7 |
. T o STaRTe Ifeaar e e & I o |
V. foo= & &9 o foren sheter sFereenfusht o ar o |
V. %ad GRotd SHEE Wl G UidHree U o |
=

(“1)' AL ISRV (2) I, IV 3RV
3) I,V SRV 4 1,11V ATV
39. A — | Gl — || & A1 G Y 3T A9 ST T e 1 TN S §T Tel SR GHT
=it — | = - I : /
(ﬁwqma:iﬂa'q) ) g1 f
(@) IIdHRI YA () TR .- |
(b) R foram g (ii) »
(C) THAT WA (iii) |
(d) THFE™ ASIgY HiTeA (iv) Smgmem | |
(v) digEe s
_—

(=N

@ @O (@© @
) @ @) @) (v)
(2 @)y @) @0 (@v)
) () (@) (v) (i)
@) @ @ @) ()
40. frefafEd weAt W faem & o 99 5T 7T %2 % @ #Rd gu T S g ;
|, T H faums & e fhdt ot &1 1 ‘o giad & & ®9 H =Y A FH SHR
ez i fear T E |
I, dfoum = 5ot STTgeE 1 TaY 3T9H, Haer 3R BT § * ergiad g6 & ueEa |
I, orgrad &= aTel TSAl Sl TRPR o UF ‘&0 o TR o IR | rgufd &l Rue s

AT TEdl & |

IV. T P HEUCHh Wi STgead & % U % 9R H Getad Io91 S 89 39 d%
forafea gt |

ST H H DI 9T 2 el € 2

A

(1) waer| sl (2) wHae| AR IV

(3) e | AR (4) wHae |l R

41, XV SaA g % IR % aR H fEfatad § | S @l ol @ gafad giar € ?
(1) T lehdite Tese : 3369 3K Al 1 35 Uiderd e
(2) T WITARTiCT TeseH ; 54T S Tl T 23 Ufcerd e
(3) o9 =T : 10HIE 31 Tl 1 4.8 Uiqwrd feear
(4) HIF : 449 R Tt 1 17 v e
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42. Match List — I with List — Il and give theorrect answer from the codes given below :

List—1 List — Il
(Author) (Book)
(& R.M.Jenkins (i)  State Politics in India
(b) Myron Weiner(ed) (i) Languadeeligion and Politics in North India
(c) Christophe (i) Regional Reflections Comparing Politics Acros
Jafferlot India’s States e
(d) Paul R. Brass (iv) India’s SiteRevolution : The rise of the Low  »
Castes in North Indian Politics {

Codes :

(@ () (c) (d)
Q) (i) @) (@v) (i)
(2 (@) (@) (v) (i)
) () @ (v) (i)
4) (v) () (i) (i)

43. Which of the following pairs is not correctly matchlgzd?

&
J

(1) Rajni Kothari — Congress system

(2) Yogendra Yadav — Third Electoral S)fétem

(3) Paul Brass = ?}sintegration of Congress
} 4 Organisation

(4) James Manor “ — Post-Congress polity

44. Who among the following wrote, “In the cext of society todaythe caste system and
much that goes with it are wholly incompdgipreactionary, restriste, and barriers to

progress.” ?
(1) B.R.Ambedkar (2) Jawaharldlehru
(3) M.K. Gandhi (4) R.M. Lohia

45. Consider the following statements about loweurts and identify the false statements
from the codes given below :

(@) The Panchayat Courtsveaonly civil jurisdiction.
(b) The Munsiff Courts are lower in hachy to the court of Subordinate Judges.
(c) The Sessions cases are the more sediscases in the Court of the District

Judge.
Codes :
(1) (a)only (2) (a)and (b)
(3) (a)and(c) (4) (&), (b)and (c)
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42.

43.

44,

45.

it — | o1 it — || o W1 e Y AR A T T e %1 WA S g0 el ST’ g ;
=it - | =it - I
(FiE) (q&Th)
(@) IRTASHEEH (i) W< difciced o dean
(b) FERA AR (i) e, RefisH U Wifefesrs g A Stear
(c) Fhe shectie (i) {oTer et : e difetfesr smbra dfears wew
(d) " e (iv) e Ao TR ;T TSt o T ol e 5 A g
Tifctfes £

T
@ () (© ()
@ i) O @) )
@ @O (i) @) ()
@ @ O v (i)
@ v @ i) (i)
et 5 9 S 91 7 el oilish § GHferd Tl i & ?
(1) wF T _ e faew i
(2) s a= - ot R faew |
(3) et _ ST 3 g S
(4) SR AR L v i et

frefafed o @ foham &t o “adam a7 o 9]y H ST JoTelt Ue 39eh 91 St §9 o €, o
ST, UfcfshaTaTaT, FaeereTes 3 wifd § sremd & 1”7

(1) R, sFEeH (2) ST JEw

(3) wH, M (4) SIRuUH. wAifear

T =Tl % IR H e 2 W geR ST R T 7T T %e § | 1o wE
i FafeTd S ;

(@) UEEd <A 1 heet At SRR § |

(b) URHIUH T GiAE AT ST SRR % e ¥ A9 g e |

(c) TTeT =arameiisr 3 e | W9 % 31 TR feart arg B € |

B

(1) o (a) (2) (a)FR (b)

3) (a)%R(c) (4) (a), (bPR ()
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46.

47.

48.

49.

Match List — | with List — Il and selectétcorrect answer from the codes given below :
List— I List—II
(Books) (Authors)

(&) The Art of Judgment : A Study Bblicy Making (i) Thomas R. Dye

(b) Understanding Public Policy (i)  Herbert Simon

(c) The New Science of Managemergdision (i) Sir Geoffrey Vickers

(d) Personality and Orgazation (iv) ChrisArgyris

Codes :

@ (b (¢ ()
() @) (Gv) (i) ()
2 (i) @ @ (v)
3 0 (i) (i) (v)
4 Gv) @@ i) ()

At present, Public Account @umittee consists of 22 members :
(1) 15 from Lok Sabha and 7 from Rajya Sabha.

(2) 14 from Lok Sabha and 8 from Rajya Sabha.

(3) 12 from Lok Sabha and 10 from Rajya Sabha.

(4) 11 from Lok Sabha and 11 from Rajya Sabha.

A horizontal grouping of speciakd activities is attained &n organization that is :
(1) Centralized (2) Integrated
(3) Decentralized (4) Disintegrated

Which of the following statements about the Right to Information Act 2005 is/are
correct ? B

(@) The Act came into force in October 2005.

(b) It repealed the filcial Secrets Act, 1923.

(c) It has not repealed the Freedom of Information Act, 2002.

(d) Itis available to Indian citizens only.

Choose the correct answer from the codes given below :

(1) (a)and(c) (2) (b)and (d)

(3) (c)and (d) (4) (a)and (d)

50. Which one of the following is not includess a cause for disciplinary action against
public servants by L.D. White ?
(1) Inefficiency (2) Long absence from duty
(3) Immorality (4) Intoxication
51. The names associated with behavioural theory of organization are :
(@) Chester Barnard (b) J.L. Moreno
(c) Thomas Carlyle (d) A.H. Maslow
Select the correct answer from the codes given below :
(1) (a), (c)and (d) (2) (a), (b), (c) and (d)
(3) (b)and (d) (4) (a), (b) and (d)
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46. T — | H G — || % T AT H 3R A FT T e H T R g IW AT

= - | = — |l
(q&Th) (cTer)

(@) T 3T AH ST : T LSl Ak Wit AT (i)  IHH IR, T

(b) sierfe ufste iferat (i) B WEAT

(C) =R s HoTiie fefaom (i) TR Foraiy e

(d) TEAfE Ug SRS (iv) TR e

T4

(@ () (c) (d)

1) G) Gv) (i) ()

2) (i) @) (@) (v)

) (@) (i) (i) (iv)

4 (v) (@) i) ()

47. IqHH H o oiEr 9iafa § 22 95 B &, e 9
(1) 15OF AT MR 7 TT AN A |
(2) 14F TN Y ARG AN AT |
(3) 12c® @ T R 10T QN I & |
(4) 11 @Y A LI QA E |

48. Topdt He § e fohy Tu faferee niidfafuat w1 ifasT Toginor giar €

(1) =i (2) TP
(3) fohi=a (4) foafea

49. gl & R fufaw, 2005% IR # ffefad et § @ sHard T8l 88 ?
(@) T ATU=m 31EzarR 20054 &1 ga |
(b) TEA TR MO atfafzm, 1923 T fohar |
(C) =TT GoT & T TTTam, 2002 THI i B |

(d) T FoeT YRAE AR BT T & |
e 5T 0 Fe ° T el ST BN T HINTT ;

(1) (a)3R(c) (2) (b)3R (d)
(3) (c)&r (d) (4) (2R (d)
50. TA.E. TS & IR Tiich Wash & oy SRS HRATE & HROT # H=fafad § ®iF a1
et &t & 2
(1) srepeTeTaT (2) < W ol SRt
(3) FHfaekar (4) ==m
51. Wed % HaERER! (G5 & 9 i § T Jag € ?
() =X TEE (b) ST @A
(c) oY et (d) wua Oret
et ST T e BT TEIT HA §T Tl IR G
(1) (a),(c) R (d) (2) (a), (b), (cHR (d)
(3) (b)3R (d) (4) (a), (b@iR (d)
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52. Given below are two statements, one labedledAssertion (A) and the other labelled as
Reason (R). Select the correct aasivom the codes given below :
Assertion (A) : Decision making is a process of séilee and the aim is to select the best
alternative.
Reason (R) :Decision making involves rationality.
Codes:
(1) Both (A) and (R) are true, and (R)the correct explanation of (A).
(2) Both (A) and (R) are true but (R)not the correctelanation of (A).
(3) (A)is true, but (R) is false.
(4) (A)is false, but (R) is true.

53. Riggsian Agraria model is characterized by which of the following ?

(a) Clan-basedrganization (b) Communalisti@lue

(c) Impersonal human actions (d) Divine authority source
Select the correct answasing the codes given below :

(1) (a), (b) and (c) (2) (b), (c) and (d)

(3) (a), (b) and (d) (4) (a), (b), (c) and (d)

54. Given below are two statements, one labefledAssertion (A) and the other labelled as

Reason (R). Select the correct assivom the codes given below :

Assertion (A) : “The issue of decentralisation mgore complex in concept and practice
than is generally acknowledged”.

Reason (R) :‘The dual role approach to decentratien is a kind of rehearsal of the area
function dichotomy in a new setting.’

Codes:

(1) Both (A) and (R) are true, and (R)the correct explanation of (A).

(2) Both (A) and (R) are true but (RB)not the correctelanation of (A).

(3) (A)is true, but (R) is false.

(4) (A)is false, but (R) is true.

55. Which one of the following was not supporteg Taylor in his Scientific Management

theory ?
(1) Efficiency evaluation experts (2) Concept of ‘Economic Man’
(3) Functional foremanship (4) Standardization of tools

56. Chester Barnard developed a conceptraspect of acceptance of authority by a
subordinate from his manager. ldentify it.
(1) Motivation matrix (2) Decision making authority
(3) Zone of indiffernce (4) Zone of coercive authority

57. Summarising the defects of bureaay, W.A. Robson did not include :
(1) Excessive sense of self-importance.
(2) Generalist dominated administrative system.
(3) Indiffernce towards the fiegs of individual citizens.
(4) A failure to recognize the relatiobstween the governors and the governed.
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52. e 3 e f{u T €, fe @ ue bt st (A) IR SE o e (R) e e € | A e
FHE T TN I G el I T
arfireper (A) : i FeRoT == S T ufha € 31X ST 3299 9 oo H1 aE € |

TH (R) : i FeRoT § qedmadr aisfad & |

FHT:

(1) (A)TE (R)THT @&t € 3T (R), (A) i T& AT |

(2) (AW (R)IH &l €, W (R), (A)H Tel = =i ¢ |

(3) (A)TE T, W (R)Td & |

(4) (AT €, W(R) TR & |

53. frgar wiEn deet FHe=fated 3 9 foae 9o & ?

() -3 Hre (b) @IS g

(c) Foafees Ae Hey (d) <& T ||

et ST T e BT TEIT HA §T T IR G

(1) (a),(b) =R (c) (2) (b), (c)ER (d)

(3) (a).(b) 3R (d) @) (@), (b), (cpr (d)

54, = 31 %o 5T T €, 99 9w 6 AT (A) 3R R P a% (R)EET T T | A R T
e T AN FA U el IR T
A (A) : “TIHIHIUT T THAT FHT WP Sl JoT H STTLRIT 3R TR | 31
Seaa & 17
aF (R) : ‘Toh=ioor & IR § S e T SUNTH U U URAST § &F-HE o e &
a1 Tk ThR € I
FT
(1) (A)TE (R) I @&t € 31X (R), (A) Sl T& AT |
(2) (A)TE (R) T @& € W (R), (A) P el = &l ¢ |
(3) (A)TE T, W (R)Td & |
(4) (AT g W (R) T E |

55. o A Y0 aRfieh yerae fagia § f=fafaa O 9 faen aqda T2 foar ar 2
(1) ForeTar geais fovs (2) ‘i A’ Y AR
(3) FHHETCHE HRAARTT (4) TSR T AHDHIHIT

56. WX TATS A Ueh 3T i 37U Ueefh Sl Gl i TPd & IR H U STTLRN foaiad
off | THH TETH I
(1) wRom A
(2) i Fremor g=
(3) SEEIAT T &
(4) eradies T BT & (ST 3 HISRTe 3TN

57. Tg. U I A A b At AR U H U fehashl SnfHet et fomar o ?
(1) &-Hed S STt e
(2) WEFIETRE!  FRTEE FOTEl W e @ |
(3) AR AMIRERT <l TGS & Ui ST |
(4) ST AR IS & S Heei bl A J et |
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58. Max Weber and Fred W. Riggs have a commonality between them in the context of :
(1) They constructed ideal type models.
(2) They studied administrative systems in their environmental settings.
(3) They concentrated on the problems of change.
(4) They used deductive approach.

59. Upward communication is basically wmyventional, but can be improved by :

(@) Management to give evidence thatist really interested in the opinions of
employees.

(b) Superior should state his own positlmefore he listens to subordinates.
(c) Chief should act upon the ideas and problems reported to him.

(d) Superior should ask his subaralies for reactions to his own ideas.
Select the correct answer from the codes given below :

(1) (a), (c)and (d) (2) (a)and(c)

(3) (b), (c) and (d) (4) (a), (b) and (d)

60. How many ways to embezzlement of gowaeent money have been mentioned by
Kautilya in his Arthasastra ?

Q) 75 (2) 40
(3) 50 4) 30
61. Match List — | with List — Il and selectercorrect answer from the codes given below :
List — | k. List — Il
(Secretary General of UN) ! (Tenure)
(a) Kofi Annan (i) January 1972 to December 1981

(b) Boutros-Boutros Ghali (i) January 1982 to December 1991
(c) Javier Perezide Cuellar  Yiii January 1997 to December 2006
(d) Kurt Waldheim (iv) January 1992 to December 1996
Codes : '
@ () () ()
1) Gi) Gv) @) ()
2) (i) (v) @) (i)
@) @ () (v) (i)
(4) (v) (i) (i) ()
62. Which of the following rights is not ingtled in the second generation human rights ?
(1) Right to education
(2) Right to health

(3) Right to be free from torture and slavery
(4) Rightto housing
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58. TR IR AR he g (0@ o oiw foheeh Gal | T € 2
(1) = EY-THE & Higed i ToT i ol |
(2) S=H 3O TATERON UNEeT H URTEh Joteral i STz fomar o |
(3) = Ul P AT W & Hisd 6T o |

(4) 3=H M IUNTT S IUFNT THAT o |

59. SRATIH TUINUT T &9 ¥ ITERATT &Il §, Wb [ohdoh §RT GURT ST Fehell &
(@) VU FRT G 37 b ST HHAMRET & foaRl & aR H I § & ¢ |
(b) RS FRT TR & fqaR G- ¥ Teet W ST f9aR Sde T =iey |
(c) HREAT T TACT T TR 3 I W H3Y 3SHT AT |
(d) IRt @ 3o foart & aR o STeiei st ufafshand g wiey |

e 5T TTT e 1 TN A g, el SR g
(1) (a).(c) =R (d) (2) (a)#R(c)
(3) (b).(c) 3R (d) (4) (a), (bpiR (d)
60. WHifced 7 IV H TR & & T & Tehe- aiehl T Socid [oha & ?
1) 75 (2) 40
(3) 50 (4) 30

61. el — | 1 Tl — |1 % Arer GAferd hY ST A< 9T T e By AT B T el I G

- | \ T - 1

(VT I BT Wehel TR | (HTeenTer)
(@) IHN =T () SHeRr 19727% fedeY 1981d%
(b) TAT A = (i) SRt 19829 fedey 1991d%
(c) SR IS T FHooIR” (iii)  STeRr 19973 fegsR 2006T%
d) FEaedm | (iv) SFERY 19923 fedist 19967

T

(=N

@ () (c) (d)
Q) (i) (@v) (i) ()
(2) (i) (v) (@) (i)
@) @ () (v) (i)
(4) (v) (i) (i) ()
62. A BRI Bl TE Uel H FEfArad § 9 5 2R i SiHer & o 727 & 2
(1) ToreT =1 SAfgeR
(2) ET=H H AYDR
(3) ST 3R AT W GfeRT I SATHR
(4) e = SAEER
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63. Which one of the following peace keeping @i®ns of the United Nations is not an
example of first generatn peacekeeping operations ?

(1) UN Transitional Authority in Cambodia
(2) UN Truce Supervision Organization
(3) UN Emergency Force

(4) UN Disengagement Observer Force

64. Match List — | with List — Il and selectéhcorrect answer from the codes given below :
List —1 List — Il /

(Writer) (Idea) { -
(@) Immanual Wallerstein () Game theory '
(b) Von Newmann (i)  End of history
(c) Morgenthau (i) Realism :
(d) Francis Fukuyama (iv) Dependency theory* (

Codes :

@ @® (@ @
Q) @) i)y @ (v)
(2 @) @) (Gv) (@)
@) (v) () (i) (i)
(4) (@) (v) (i) (i)

65. Given below are two statements, one labefledAssertion (A) and the other labelled as
Reason (R). Select the correct aasivom the codes given below :

Assertion (A) : Non-alignment policy was more relevant during cold war period.
Reason (R) :Non-aligned countries are divided ethnic and religious differences.
Codes:

(1) Both (A) and (R) are true, and (R)the correct explanation of (A).

(2) Both (A) and (R) are true but (RB)not the correctlanation of (A).

(3) (A)is true, but (R) is false.

(4) (A)is false, but (R) is true.

66. Given below are two statements, one labedledAssertion (A) and the other labelled as
Reason (R). Select the correct aasivom the codes given below :

Assertion (A) : American foreign policy supported the democratic regimes.
Reason (R) :At times the military systems were also supported by America.
Codes:

(1) Both (A) and (R) are true, and (R)the correct exphation of (A).

(2) Both (A) and (R) are true but (RB)not the correctelanation of (A).

(3) (A)is true, but (R) is false.

(4) (A)is false, but (R) is true.
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63. TIHT A o N ST AT § FFeAfcARad 5 & i TT Fer digh b Iifd =T A Tal € -
(1) Fwaifear § g A Sl FHHUTRCA T
(2) TR Ao FlorH AReAteTOT FI
(3) TIT WL SUTABICA et
(4) T U feqsiisTie wHdets oot

64. e — | H TR A Gl — || & A GAferd T R Al KT T H 1 TG FA g el ST AT

Tt — | Tt — || Y
(GLEED) (fram) {
(@) TAFRTS ARSI () @ fagma f i
(b) o =E (i) =i % 3
(c) = (iii) =z :
(d) SITEE Fepare (iv) s fogia | {

%< .

(=N

@ () (© (@)
@ @ G 0 v
2 (i) @ (Gv) ()
@ Gv) 0 @) (i)
@ @O (v) (i) (i)

65. e 3 e KU T ¥, e @ ueh iR (A) IR S S ae (R) e e € | A e
T T TANT A U Tl ST T
AR (A) : TTe FRUeT i 9T g5 % el § 3T T ot |

% (R) : T FRUET 397 Jaoa 7R efiyep 957 o SMER W foifed & |

YA

(1) (A)TE (R)TH Tel & 31X (R), (A) H T&t AR € |

(2) (A)wE (R) I el € Al (R), (A) T Tt AR &l & |

(3) (A)TE T, W (R)Td & |

(4) (A)TaE W(R)TEE |

66. == 3 Fee KU T §, e @ ueh iR (A) IR T W o (R) e e € | A g
e N TANT I G Tl ST T
arfirperd (A) : et fager ifq 3 ciehaite TXPRT ot qHe fEar |
% (R) : 999-999 W A et @ ot TR R 98 o @ |
YA
(1) (A)wa (R)3H W&l € 3R (R), (A)H T = ¢ |
(2) (A)wE (R) I el € oAfh (R), (A) Sl Tel = Fai € |
(3) (A)TE T, W (R)Td & |
(4) (AT e W(R)TEE |
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67. Which of the following statements is / are not true of dependency theory ?
(A) Unequal relation between core and periphery.
(B) Developmental process in the thirdndonations reinforces underdevelopment.
(C) Industrialization leads toew forms of democratizatiomd equity in global order.
(D) Strengthening of neo-colonialism.
Choose the correct answer from the codes given below :
(1) (A)and (D) (2) (B)and(C)
(3) (M), (B), (C) and (D) (4) (C)only

68. “Uniting for Peace Resolution” is also called as :
(1) Truman plan (2) American plan

(3) Achiesomplan (4) Eisenhoweplan

69. ‘Balance of Power’ is an important principle of :
(1) Liberalthoughtin international politics.
(2) Marxist thought in international politics.
(3) Traditionathoughtin international politics.

(4) Realist thought in international politics.

70. According to Iris L Calude Jr. which of tiiellowing is not a device for the management

of power ?
(1) Arms control (2) Collective security
(3) Balance of power (4) World Government

71. How many Asian countriere members of G — 20 ?
1) 5 (2) 6
@) 7 4) 8

72. The modern state system with its territosavereignty came into existence first in Europe
in the wake of the

(1) Treaty of Versailles (2) Congress of Vienna
(3) Treaty of Westphalia (4) Congress of Berlin
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67. I fasid % ar § fefetad § & A 61 Fo T T 8 2
(A) goT 3R URRY & s STAM Fee
(B) oGt 3fam o S9N | foehrarenss ufshan S1eq-foehg W qHeet 3t € |
(C) TRITIHIUT ARCHHIUT % AT WU Y ifvesh e o = Tiadn (gferer) 1 An Jere

FIATE |
(D) A-SUMCRTETE i AT ST |
e 3T T e 1 T A gU HEl SR g
(1) (A)R(D) 2 (B)IR(C)
3) (A), (B), (C)3R (D) (4) = (C)

68. “TIifd % foTT Tehslear W’ i fhd 37 A & ST e € 2
(1) A= (2) 3MERPT wH
(3) T WA (4) SRR W=

69. VIfe Tqe feraehT Ush Hewayul fagid € ?
(1) SR T § STRART SRR
(2) ST TSI | AT foraeRT
(3) IR TSI H YRR foraremT st
(4) FARTLE ToHITT | Fereiarat foramarT

70. A TA FATE I, F AR FEAfART § T B 91 IR & Teiee T Qe ((feared) Tél & ?

(1) v fiEor (2) ufew gr&m
(3) wifeRt Tge (4) fova aER

71. T WREE NG — 205 T € ?
(1) 5 (2 6
Q) 7 (4) 8

72. TG H ST WRRTH WIAT % W1 e 5T Yool R Tt o uRued § ggelt IR Ak §
3T 2

(1) === = (2) fooT wE|
(3) Rt €y (4) afem Fo
J-02-16 29 Paper-Il|

www.examrace.com



73. Which of the following statements are corremgarding Economic and Social Council of
U.N. ? Choose your answer from the codes given below :

(i)  The Council has 54 members.

(i)  The Council generally hold severdiast sessions and many preparatory meetings,
and panel discussions with the memlwdrsivil society throughout the year.

(iii) It also holds a three-vek substantive session in July.
(iv) Voting in the Council is by simplajority, each member has one vote.

Codes :
(X)), (i), (i) (2) (i), (iii), (iv)
) (), (i), (iv) (4) (i), (i), (i), (iv)

74. According to Karen. A. Mingrt , which of tHellowing conditions is not essential to make
first generation peacekeeping ogiBons most effective ?

(1) A clear and practical mandaiepurpose for the operation.

(2) U.S. forces must also be present in the peace-keeping operations.

(3) Consent of the parties involved ashte mandate and composition of the force.
(4) Strong financial and logistical suppoftthe members of thUN Security Council.

75. Match List — | with List — Il and selectetcorrect answer from the codes given below :

List — | List—1I
(Term) . (Contents)
(a) Preventive () "ltis like classical peace-keimyg. It refers to the deployment
diplomacy of a UN force in the field with the consent of all parties.

(b) Peace makiﬁ‘g (ii) It involves developing social, political and economic infra-
{ -~ structure to prevent furtheralence and consolidate peace.

(c) Peace keeping  (iii) It involves caténce-building measures, fact finding and

"4 preventive deployment of UN authorised forces.
(d) Post-conflict (iv) Itis designed to bring hostile parties to agreement essentially
peace bu?ldin.g through peaceful means.
Codes :

@ () (¢ ()
() G Gv) @ (i)
) (i) (v) @) (@)
@ 0 (i) (i) (v)
4 (Gv) (i) (@) (@)
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73. T T SAMH Ue TR GRus & aR § HEAfcfed § & S 91 o T@ € 2 99 KU e fe
1 JINT A g e IR G
() TWIRGEH54TTHE |
(i) I URug v W T MHAR W NS TAN & G311 b off 99 T 3 dand
Yk 3T U7eT = AT Bl € |

(i) =& STeg | A e BT TR G ot A et ¢ |

(iv) 39 URYS § AASH WYRUT SEAT 9 BT ¢ SR Fds 9e U 0 el € |
%

1) @), (i), (i) (2) (i), (iii), (iv)

3) (). (i), (iv) 4) (), (i), (iii), (iv)

74, A U e % AR T2H el o IMd T ST 6l Feitess Jmet - & fore FHefead
H I DI O SETh T ¢ 2
(1) UH T TS ARG e a1 AR 1 329
(2) emRenr Tt b ot wifd T SRR § @1 ST =@ |
(3) 3R 3 IoT Bl T | IMTHA TeTl bl WeArd |
(4) TIRT T TR URYS & I B IoTae ol Ta SR T (ATSIREh) T9e |

75. gt — | gl — || % w geferd Y AR A KT T e T R g0 Hel S’ Y ;

= - | = — |
(FreaTare) ) (ferwraa=)
(@) TaR&E TSI (i) = dE IS il AT ST & | SR Aeqd Gl gedi il Fenrd &
T HIFT T o oA Sl A T & |

(b) wifg fmior o (i) . T ST Tew O U 3R Wi S A o % e
[ QTS TSI ST ST SIRREFR (ST Graemd)

. foerra wnfier & |

(c) iife g (i) =EH fogeme fHiOT SUTE, el B UAT ST SR T T

\ 31T STl St HaRe o= I € |

(d) wq:rsrs??fr% (iv) TE 3¥ad: SNiqqor WremT & qrerd | 91 Uall bl Geud R & oy
fmmor ERISIGIE

@ () (¢ ()
@ G vy @ (i)
) (i) Gv) @) (@)
@ 0 (i) (i) (v)
4 (Gv) @) (@) (@)
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